— Aty —
lechoe

S\eu}"omq Apf/)cmﬁowg

s S il o S 6 1

we/ C.om fuxll ﬁ\e, k/ka’{m; ‘prbw fe%ovxs
7/ 7.2 annd AU W annd So/‘/L
om m;HaJ value })mb

SM*QX?: T torvm auw LV P mto  aw ,
ALGERRAIC PRORLEM .

DE w £ — ALGERRAIC EQ. in ¢

§0\uHOW .HA 't <————YO\M‘HOV\ S




— 80 —

EK,MQ'Q" (Hw EKW&L'U /0'301.)
SO‘VL “\’LL va T R

Yoy =
y(oY=0

=0

STEP \,\\Lo\a'mtt "'YAV\QCOYM’/ y/f)/=(~',
Ly -y1= L1001 = o
L {y‘w§ = Ly = L{Y =

By LINEARITU1 | (13 = L o ToRLE,

itewa ¥ |

[T yo]- T <4 =
y
=Q |

SYE - LG =4 =)

st Liyol=T6) ¢ . o« |
T-chx L {y/(-t\S = SY(S] - \//(OX awd Lq{z—(s{}:y('\:),

3

[ W E —




\

—_— = A

s(s=-1) S S -1
| = A(-D + Bs

Alo-D+B(0) =
RS

.......

nn

.5=4\w1 IIA‘(I-I)-» R (1) =

7 — - \ .
VLX) s —

S

CTEPQ " Towerss Fmviborwn” Tl = T +35 °

|

Lﬂ{"s r f'-l} —)

L7 {X6)}
4 — 57 LN EAK ) TY




— YA

—‘-s-j.:\ o 4 L_'{ S\—o\ S:e_étj

i
¢

A e e e b
X . i

R e S SV R



	Math 301_S7_5: Applications 
	Example: Exercise 1, page 301



